Mr. Miller

Astronomy






Name: ____________________________

Quiz #2
1. Pictured below is a portion of the horizon, with the direction you are looking indicated on the figure.  For each horizon, draw the path of the stars as they appear to move relative to the horizon for a latitude of 0°N (the Equator).
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2. The celestial sphere is:

a. Latitude and Longitude of the stars

b. The a sphere surrounding the earth, somewhere between the orbit of Mars and Jupiter
c. A sphere at the infinite periphery in which all the stars seem to lie.

d. Thousands of times bigger than the Earth
3. A sidereal day on Earth is longer than a Solar day.  TRUE / FALSE

4. Explain the difference between a sidereal and solar day.

5. Two parts:
a. The sun cannot ever be directly overhead when you are South of what latitude?
b. What is the name given to this latitude?

6. The axis of the Earth is tilted from the ecliptic at an angle of:
a. 32.5°

b. 16.75°

c. 23.5°

d. 0°

e. 90°

7. Explain why the earth has seasons from the geocentric perspective – use drawings to help.
8. Draw a picture of a Total Lunar Eclipse from a) the heliocentric and b) geocentric perspective.  Be sure to include and label the Earth, the Sun, and the Moon.

a)






b)
9. Sketch what each type of solar eclipse would look like from the geocentric perspective:

a. Annular:

b. Total:

c. Partial:

10. It is the Summer Solstice and you are at the North Pole.  Accurately describe (and draw if you wish) the path of the Sun in the sky for the whole day.
11. You are at the Equator and it is the Fall Equinox.  Describe the path of the sun in the sky for the whole day.

12. Is it possible to have a full moon occur when the angular separation between the Sun and Moon in the sky is between 45° and 90°?    YES / NO


13. Label A-H in the diagram below using any of the following choices:

Each letter can be used only once, and not all choices are used.
____ - Summer Solstice

____ - Polaris

____ - North Celestial Pole

____ - Ecliptic

____ - Autumnal Equinox

____ - Celestial Equator

____ - South Celestial Pole

____ - The Sun

____ - Earth’s Equator

____ - Winter Solstice

____ - Celestial Sphere

____ - The Earth

____ - Vernal Equinox

14. Name the 12 constellations in the zodiac.
1. _____________________
2. _____________________

3. _____________________

4. _____________________

5. _____________________

6. _____________________

7. _____________________

8. _____________________

9. _____________________

10. _____________________

11. _____________________

12. _____________________

15. Why are these 12 constellations of the zodiac important? Why are they astronomically (NOT astrologically) significant?

16. At the equinoxes, the sun will rise due East and set due West regardless of your latitude.  TRUE / FALSE

17. Explain the difference between the Altitude/Azimuth and Right Ascension/Declination systems for locating objects on the celestial sphere.

18. On what day(s) of the year are the lengths of day and night equal?

19. The Arctic and Antarctic circles mark the latitude at which the sun:
a. will be directly overhead on a single day of the year.

b. can never be directly overhead on any day of the year.

c. will not rise on a single day of the year.

d. reverses its course in the sky

20. What two factors are responsible for the fact that we don’t have solar and lunar eclipses every single month?
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